



Vendor Ranking Page 1 of 1

Letting: 01221201 December 01, 2022 11:00 Call Order: 001 Contract: E1V71-R0

AM

Counties: CHARLOTTE, CITRUS, District: District 1 Fed Aid No: N/A

COLLIER, DESOTO, Contract Time: 365 CALENDAR DAYS Project(s): 44563715202 40433735201 (*)

DIST/ST-WIDE, GLADES, Contract Desc: District 1 & 7 Materials & Research MOT HARDEE, HENDRY,

> HERNANDO, HIGHLANDS,

HILLSBOROUGH, LEE,

MANATEE,

OKEECHOBEE, PASCO,

PINELLAS, POLK,

SARASOTA

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ACME BARRICADES LC	Responsive	Winning bid	\$397,980.00	100.00%
2	BOB'S BARRICADES, INC.	Responsive	Non-Winning Bid	\$626,500.00	157.42%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 3

Letting: 01221201 December 01, 2022 **Call Order:** 001 **Contract:** E1V71-R0

District: District 1 Counties: CHARLOTTE, CITRUS, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

COLLIER, DESOTO,

Project(s): 44563715202

Contract Descr: District 1 & 7 Materials & Research MOT

DIST/ST-WIDE,
GLADES, HARDEE,

40433735201 (*)

The work under this Contract consists of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and Seven Materials and Research Heavy tenence of District One and District One

HIGHLANDS,

HILLSBOROUGH, LEE,

MANATEE,

OKEECHOBEE, PASCO,

PINELLAS, POLK, SARASOTA

Line No / Item ID Alternate Item Description	Quantity Units	(1) ACME BAR	RICADES LC	(2) BOB'S BARF	RICADES, INC.		
() indicates item is bid as Lump Sum	Cime	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH							
0005 0102 14 TRAFFIC CONTROL OFFICER	225.000 HR	75.00000	16,875.00	80.00000	18,000.00		
0010 0102 60 WORK ZONE SIGN	175.000 ED	15.00000	2,625.00	0.50000	87.50		
0015 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD	175.000 ED	1.00000	175.00	0.50000	87.50		
0020 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL	15.000 ED	25.00000	375.00	15.00000	225.00		
0025 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	10.000 ED	40.00000	400.00	15.00000	150.00		
0030 E102 1 2 MAINTENANCE OF TRAFFIC (SITE SPECIFIC CONTRACTS)	195.000 DA	1,400.00000	273,000.00	2,960.00000	577,200.00		





Tabulation of Bids

Page 2 of 3

Letting:	01221201	December 01,	2022 Ca	II Order: 001		Contract:	E1V71-R0	
Line No / Item ID Item Description		e Quantity Units	(1) ACME BAR	RRICADES LC	(2) BOB'S BAR	RICADES, INC.		
() indicates item is	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH							
0035 E102 20 PORTABLE LIGHTIN MOUNTED)	IG UNIT (MAST	30.000 ED	1.00000	30.00	75.00000	2,250.00		
0040 E102 97 1 TRUCK MOUNTED (TEMPORARY)	ATTENUATOR	95.000 ED	1,100.00000	104,500.00	300.00000	28,500.00		
	IC CONTROL S NTROL (MH)	Section Totals:		\$397,980.00		\$626,500.00		

Contract Grand Totals:	\$397,980.00	\$626,500.00	



12/01/2022

Tabulation of Bids

Page 3 of 3

Letting: 01221201

1 December 01, 2022

Call Order: 001

Contract:

E1V71-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.